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Examples

1) 7,10,13,16,19 - - - ag)am cweyem1 al@lnemlosd:

a) GUYIMIWHS Hald@AUYDLIMVo af)(@?
b) alB6BO8 Hald®AII®IIMV0 OBDIMNE" a0012J0@3 UdlaHo af)(@ oeﬂgo ?
C) OV GEYMIYHS @RYBIHDD JIMNBNMVoRILIalB0 af)(@?

d) oM cEYMIYHS BIRYBLHMD MILILHAMVoEIYIaIB0 af)(@?

Answer

ayd=10—-7=3
b) 1

c) 100
100om 3 930" a001ao@d Wlaygo 1 . 100 @rem” @rEynom
BANSHAMVo6UL0A IR0 .

d) 1000
1000em1om 3 6@3»I6ne”" a0@1 0@ Wdlaggo 1 . 1000 @ryem” @3y omm
BADEHTVoEY A IB0 .

2) 8@ AVMIAMOCUYMIWHS NNRVIMID@Balo 3n + 4@Rem”

a) GEYMI af) YD H:
b) a1368BOE Hald@AIY® {000 OIS a0@12J0@3 UTlaYo af)@?
C) @RYBIHOA® AINANMVoRILIaIB0 af)(@?

d) @RBYIHE™ MILILHMVoRIYIaIB0 af)(@?



Answer

aQ)3x14+43x2+4,3x3+4---
b) 1

c) 100
100om 3 006" a0@1ao@d Wlaygo 1 . 100 @rem” @rEynom
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d) 1000
1000em®1om 3 6@3»I6ne”" a0@1 0@ Wdlaggo 1 . 1000 @ryem” @3 yo o
BADEHTVoEY A IR0 .

Note that quesions given above are same )
3) 1,23+ apam qLoaiyde8 7 0306me” 0emlaf 3G .

a) GUYMIWOIW] af) YD
b) a136BO8 Hald®AII®IOMV0 OHBDHIMNE" 2001203 WdlaHo af)@?
C) @RYBIHOD PANSHTVoaILIa 130 aF® ?

d) @RBIHED® MILIEHMVoaI IalB0 aB® ?

Answer

a) TX1+37x24+3,7Tx3+3---

b) ©alo@®aIymYITVo 7. AIBEBRO8 Hald@AY®IITVo HHHIMNE a0@1J0@3
@Blaggo 3&s15aM0.

¢) 10lemem” eRRIOO® gmMeEnauoalydaide 10lem 7 e®0me”
a0@12J0@3 Wdlatgo 3&515aM0.

d) 1001 emem” @rsieem moelisdvoalydaide . 1000omem 7
0D a0@12J0@8 994 anoeTanelo B1gm0. 994 + 3 = 997 @ryem”
10000m@8 omg ®09QYSS aldo . S997 + 7 = 1004 @ryem”
@RYBLODD MILIBHAVo6L IR0 .

4) 8@ TVMAVOBUYMIWOS o IOMIo allo 34 , MWal®Io allo 64.

a) ©ald@AIY®LOMVo af)(@?

b) cWoMMIYeS @RYBYalRo af)@?

€) cUeHMIWHS MNARWMIMGBalo af) D d:
d) cuyem1 Mol BNV af)$DH:

e) CUYIMIWI1HLl alB36EROS HaldDAUID® JITVo HHHINE a0012J0@3 Udlato af)@?



f) 5000™ cUYMIYHS al3MIGEMI? 3

Answer

a) 10d = 64 — 34 — 30, d = 3

b) f =10 —9d =34 —9x3=34—27=7
xp,=dn+(f —d)=3n+(7—3)=3n+4
d) 7.10,13,16 - - -

e) 1l

f) aisoel. 500 om 3 ©d6ME" a0@12J0@8 2 UOlayMIHN.  WlaYo
L@nenom@ImId mm ¢Eyem1ads00mel agam” amavlenagndo.
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